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Pseudo-Random Bit Sequence Generator
Bit rate = 10  GBits/s

NRZ Pulse Generator

Mach-Zehnder ModulatorCW Laser XG-PON Downstream
Frequency = 1578  nm
Power = 8  dBm

Optical Time Domain Visualizer

Optical Spectrum Analyzer

Optical Power Meter

Photodetector PIN Low Pass Bessel Filter
Cutoff frequency = 0.75 * Bit rate  Hz

3R Regenerator BER Analyzer

Optical Transmitter
Frequency = 1270  nm
Power = 5  dBm
Bit rate = Bit rate  Bits/s
Modulation type = NRZ  

Optical Delay_1
Delay = 1  

Optical Receiver
Cutoff frequency = 0.75 * Bit rate  Hz

BER Analyzer_2

Fibra Óptica 2
Reference wavelength = 1578  nm
Length = 0.3  km
Attenuation = 0.4  dB/km

Pérdidas DIO 1
Attenuation = 0.65  dB

Fibra Óptica 1
Reference wavelength = 1578  nm
Length = 0.3  km
Attenuation = 0.4  dB/km

Pérdidas DIO 2
Attenuation = 0.65  dB

Splitter Bidirectional 1x4
Insertion loss = 9  dB
Return loss = 55  dB

Pérdidas DIO 3
Attenuation = 0.65  dB

Pérdidas CDOI
Attenuation = 0.05  dB

Fibra Óptica 3
Reference wavelength = 1578  nm
Length = 0.1  km
Attenuation = 0.4  dB/km

Pérdidas Roseta
Attenuation = 0.65  dB

Fibra Óptica 2_1
Reference wavelength = 1270  nm
Length = 0.3  km
Attenuation = 0.4  dB/km

Pérdidas DIO 3_1
Attenuation = 0.65  dB

Pérdidas CDOI_1
Attenuation = 0.05  dB

Fibra Óptica 3_1
Reference wavelength = 1270  nm
Length = 0.1  km
Attenuation = 0.4  dB/km

Pérdidas Roseta_1
Attenuation = 0.65  dB

Pérdidas DIO 1_1
Attenuation = 0.65  dB

Fibra Óptica 1_1
Reference wavelength = 1270  nm
Length = 0.3  km
Attenuation = 0.4  dB/km

Pérdidas DIO 2_1
Attenuation = 0.65  dB

Photodetector PIN_1 Low Pass Bessel Filter_1
Cutoff frequency = 0.75 * Bit rate  Hz

3R Regenerator_1 BER Analyzer_1
Fibra Óptica 2_2
Reference wavelength = 1578  nm
Length = 0.3  km
Attenuation = 0.4  dB/km

Pérdidas DIO 3_2
Attenuation = 0.65  dB

Pérdidas CDOI_2
Attenuation = 0.05  dB

Fibra Óptica 3_2
Reference wavelength = 1578  nm
Length = 0.1  km
Attenuation = 0.4  dB/km

Pérdidas Roseta_2
Attenuation = 0.65  dB

Optical Transmitter_1
Frequency = 1270  nm
Power = 5  dBm
Bit rate = Bit rate  Bits/s
Modulation type = NRZ  

Optical Delay
Delay = 1  

Fibra Óptica 2_3
Reference wavelength = 1270  nm
Length = 0.3  km
Attenuation = 0.4  dB/km

Pérdidas DIO 3_3
Attenuation = 0.65  dB

Pérdidas CDOI_3
Attenuation = 0.05  dB

Fibra Óptica 3_3
Reference wavelength = 1270  nm
Length = 0.1  km
Attenuation = 0.4  dB/km

Pérdidas Roseta_3
Attenuation = 0.65  dB

Buffer Selector
Selection = Iterations - 1  

Buffer Selector_1
Selection = Iterations - 1  

ONT 1

ONT 2

OLT

Optical Power Meter_1
Optical Power Meter_2

Photodetector PIN_2 Low Pass Bessel Filter_2
Cutoff frequency = 0.75 * Bit rate  Hz

3R Regenerator_2 BER Analyzer_3

Optical Transmitter_2
Frequency = 1270  nm
Power = 5  dBm
Bit rate = Bit rate  Bits/s
Modulation type = NRZ  

Optical Delay_2
Delay = 1  

Fibra Óptica 2_4
Reference wavelength = 1578  nm
Length = 0.3  km
Attenuation = 0.4  dB/km

Pérdidas DIO 3_4
Attenuation = 0.65  dB

Pérdidas CDOI_4
Attenuation = 0.05  dB

Fibra Óptica 3_4
Reference wavelength = 1578  nm
Length = 0.1  km
Attenuation = 0.4  dB/km

Pérdidas Roseta_4
Attenuation = 0.65  dB

Fibra Óptica 2_5
Reference wavelength = 1270  nm
Length = 0.3  km
Attenuation = 0.4  dB/km

Pérdidas DIO 3_5
Attenuation = 0.65  dB

Pérdidas CDOI_5
Attenuation = 0.05  dB

Fibra Óptica 3_5
Reference wavelength = 1270  nm
Length = 0.1  km
Attenuation = 0.4  dB/km

Pérdidas Roseta_5
Attenuation = 0.65  dB

Photodetector PIN_3 Low Pass Bessel Filter_3
Cutoff frequency = 0.75 * Bit rate  Hz

3R Regenerator_3 BER Analyzer_4
Fibra Óptica 2_6
Reference wavelength = 1578  nm
Length = 0.3  km
Attenuation = 0.4  dB/km

Pérdidas DIO 3_6
Attenuation = 0.65  dB

Pérdidas CDOI_6
Attenuation = 0.05  dB

Fibra Óptica 3_6
Reference wavelength = 1578  nm
Length = 0.1  km
Attenuation = 0.4  dB/km

Pérdidas Roseta_6
Attenuation = 0.65  dB

Optical Transmitter_3
Frequency = 1270  nm
Power = 5  dBm
Bit rate = Bit rate  Bits/s
Modulation type = NRZ  

Optical Delay_3
Delay = 1  

Fibra Óptica 2_7
Reference wavelength = 1270  nm
Length = 0.3  km
Attenuation = 0.4  dB/km

Pérdidas DIO 3_7
Attenuation = 0.65  dB

Pérdidas CDOI_7
Attenuation = 0.05  dB

Fibra Óptica 3_7
Reference wavelength = 1270  nm
Length = 0.1  km
Attenuation = 0.4  dB/km

Pérdidas Roseta_7
Attenuation = 0.65  dB

Buffer Selector_2
Selection = Iterations - 1  

Buffer Selector_3
Selection = Iterations - 1  

ONT 3

ONT 4


